Nk BF[FE]

W
I
1]
00)
I
W
1]
o

ek /=767 =LK

A 1 2 3 i = fiL
1 Al (E7FR—>TC) 6-1 6-1 2 0 1
2 ik RE (fEISELTC) 1-6 5—6 0 2 3
3 L0 fiik (T=ZRATID) 1-6 6-5 1 1 2
B 4 5 6 i = i1
1 INER BRTE (T=RAZ92Y) 6-1 6-0 2 0 1
5 i P N F 1 (1IN T199) 1-6 5-6 0 2 3
6 BH fE—ER (BERX—/\—) 0-6 6-5 1 1 2
C 7 8 9 i = fiL
7 Bl F25% (f=1+Hh) 6-1 5-6 1 1 2
8 {EE 5hER (1IN T190) 1-6 0-6 0 2 3
9 INAR BRE (TZRAZ2D) 6-5 6-0 2 0 1
INEA - B[ ARE) HekX 1twvbwyF
I TE (EAR—>TC) ;
2 | e | EE ME—ER (BIER—/%—) ) !
s | 2 EIN F2E (=13 5%) 0 .
oS IV (FZRFIUD) . 0
s | Lo ik (FZRTYIUT ] ;
o | o AN R (F=RTHUD) !
INEAE - T [FiE] ek R: /—FF65—LEE
A 1 2 3 # & fa
1 R B¥ BXETC) 6-3 6—4 2 0 1
2 F T~ RIE (1=1FH %) 3-6 6-3 1 1 2
3 AR BARE (BER—/\—) 1-6 3-6 0 2 3
B 4 5 6 i = i1
4 INTT AR (F=1THH) 4-6 6-0 1 1 2
5 XA AR (AIT=R9357) 6-4 6-0 2 0 1
6 LA T4 (BER—/\—) 0-6 0-6 0 2 3
c ; : . " i
7 B2 BE (AIT=R957) 6-3 W.0 2 1
8 fn K JB (t=1FHH) 3-6 W.0 1 1 2
9 EH HHY (h2T!)—hF=ZX7HTS—)| WO W.0O W.0O
INFA - [ ARE) AKX 1ty vF
I #HAR B¥ BERTC) 6
| AN (f=11 ) . ’
s | B2 BEE (AIT=R957) 0 6
ar Bk 18 (1213 B5) 7 2
5 | AT R (f=1+5) ° 3
o | o X8 HE (AIF=2557) 0




